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gienthaty =1 whenx=0
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Write short notes (any four)
Flow chart
Internet error

Machine epsilon
Subprograms

Matrix Inversion method
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Numerical Methods and Statistical Analysis

Time-3 Hrs. Max. Marks : 70
Min. Marks : 28
Note : Attempt any five questions. All question carry equal marks.
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Q.1. a

Q.2. a

Find the sum in normalised floating print representations :
AHATSST FAIfST Uige goi= & oIy it (Sum) ST &7 |
0.215642E04 + 0.146521E05 + 0.233416E06

J55=2345 and /601 = 2.470 ., correct to four singnificant
figures. Find the realtive error in taking the difference of these

numbers.

J55=2345 T /601 = 2470, Tl 2HAT & @R 3 b
GefSrd PHITU | SURIGT el & 3faR o+ | Hdfrd SIY bl e
B |

Find the real root of the equation x* —4x+1=( Correct

upto three significant figures, by Regula Falsi method.
AT T BTl fafey gIRT 79 AHiaRoT & i aR<ifda il T
el ST DI |
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Q.3.

Q.4.

X —4x+1=0
Solve sinx =1+ x” using Newton Raphson method.
<[ YHa faf gR1 g sinx =1+ x° #RW]
Solve the system of equation of matrix inversion method.
X +x,+x;=1,x+2x, +3x; =6,x, +3x, +4x, =6
Matrix inversion fafer RT FHI®HRON BT 8 HINTT |
X, +x,+x;,=1,x +2x,+3x, =6,x, +3x, +4x, =6
Solve the equations by Gauss Jorden method.
M Sired fafy gRT TRl Bl g1 DI |
10x+y+z=12
2x+10y+z=13
xX+y+5z="7
Construct Newton's forward interpolation polynomial for the
following data :
=1 12T @ forw Newton's forwarded interpotation polynomial
ERIERE
X 4 6 8 10
Y 1 3 8 16
Hence evaluate y for x = 5.
y ST HINTY Sdfd x =5

Find by Lagrange's formula to find the value of

AT 3 A = &1 94 3 SR —
us if uy=1u,=19 u, =49 u 181
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Q.6.

Q.7.

. a. Find "(5) from the values

f"(5) &1 A 19 & gRT S1d HIg —
2 4 9 13 16 21 29
57 1345 66340 402052 1118209 4287844 21242820

b. Calcualte the definite integral by Simpson's one third rule.

Rraas & us fage g 3 Fed a9 sd Sig —

Zsinx—loge)ﬁe")dx
a. Calculate the correct upto four decimal places.

TIHAT B IR IHh] Tb Bl PISTT —

Zesinxdx

b. Using Euler's method, find an approximate value of Y

dy y-—x
corresponding to x = 0.1. Given that e =

y+x’
andy=1whenx=0
Euler's fafer gr1 Sv1fad A1 &1d @I1g, y & <mver

dy _y-«x
x=0.1fear e - Yt
y=1%@ld x=0

Apply Renge - Kutta to find approximate value of y for x = 0.4
in steps of 0.2 if

d_y B y2 _x2

dx y +x°
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